
Lösungen Übungen Energie 

1.  𝐸௣௢௧ = 𝑚 ∙ 𝑔 ∙ ℎ 
          = 22𝑘𝑔 ∙ 9,81

௠

௦మ
∙ 10𝑚 

          = 2158,2 𝐽 
 

2. 𝐸௞௜௡ =
ଵ

ଶ
∙ 𝑚 ∙ 𝑉² 

         = ଵ

ଶ
 ∙ 900𝑘𝑔 ∙ ቀ27,8

௠

ଶ
ቁ

ଶ
 

         = 347778 𝐽 
 

3. 𝐸௧௛௘௥௠ = 𝑐௪ ∙ 𝑚 ∙ ∆𝑇 
              = 4,19

௞௃

௞௚ ∙௄
 ∙ 2𝑘𝑔 ∙ 80𝐾 

               = 670,4 𝑘𝐽 
 

4. 𝐸௘௟ = 𝑈 ∙ 𝐼 ∙ 𝑡 
       = 12𝑉 ∙ 0,6𝐴 ∙ 600𝑠 
       = 4320 𝐽 
 

5. 𝐸௞௜௡ =
ଵ

ଶ
∙ 𝑚 ∙ 𝑉² 

         = ଵ

ଶ
 ∙ 10𝑘𝑔 ∙ ቀ5,6

௠

ଶ
ቁ

ଶ
 

         = 156,8 𝐽 
 
𝐸௣௢௧ = 𝑚 ∙ 𝑔 ∙ ℎ 

ℎ =
𝐸௣௢௧

𝑚 ∙ 𝑔
=

156,8𝐽

10𝑘𝑔 ∙ 9,81
𝑚
𝑠²

= 1,6𝑚 

 
6. a) 𝐸௘௟ = 𝑈 ∙ 𝐼 ∙ 𝑡 

           = 12𝑉 ∙ 0,2𝐴 ∙ 240𝑠 
           = 576 𝐽 = 0,576 𝑘𝐽 
 
𝐸௧௛௘௥௠ = 𝑐௪ ∙ 𝑚 ∙ ∆𝑇 

∆𝑇 =
𝐸௧௛௘௥௠

𝑐௪ ∙ 𝑚
=  

0,576𝑘𝐽

4,19
𝑘𝐽

𝑘𝑔 ∙ 𝐾
∙ 0,5𝑘𝑔

= 0,3𝐾 = 0,3°𝐶 

 
b) 𝐸௘௟ = 33120 𝐽 = 33,120 𝑘𝐽 
 
∆𝑇 = 15,8𝐾 = 15,8°𝐶 
 

 


